Assignment I

a.

Key
1.

8.

Gap filling with prepositions.

Rahul lines 1  Agra.Oncehewenttoabank 2  cheque__ 3  five thousand
rupees. There he met Arjun, his cousin who has been, living there ___ 4 a month. Rahul
congratulated him 5 his success in the recent examination). They shared the
chocolates 6 themselves and dispersed. When Rahul was entering the house he sew
the gardener cutting grass ___ 7 a lawn mover. He attends his work 8 monday

9 friday. The rest 10 the week he works 11 a factory.

in 2. with 3. of 4.for 5.on 6. between, 7.with

from 9. to 10. of 11. in

Assignment 1

a.

Key

Gaps filling with preposition.

The lowest temperature 1 earth, between ... 40 degrees and 50 degrees Celsius have
been recorded 2 the Antarctic. The lowest temperature ever recorded was____ 3
Vostole in 1983, 89. 6 degree Celsius. The village of Oymyakon. Siberia is probably the
coldest inhabited place in the world S 1933, atemperature of 68 degree Celsius was
recorded. Death Valley ___ 6 California is probably the hottest place___7 __earth. Here,
for almost two months, of the year, the temperature hovers around 50 degrees Celsius. The

hottest temperature even recorded of 57. 7 degrees Celsius was 8 ElAziziain libya.

1.0on 2.in 3.at 4.in S5.in 6.in 7.on &. at
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Assignment - I

a. Gaps filling with suitable prepositions.

John Keatswasborn__ 1 London___ 2  October 31, 1795. 3 thebeginning,
his life was shadowed __ 4 illness and tragedy. His father, who managed a livery stable,
waskilled___ 5 aroad accident when keats was eight. His motherdied _6 __tuberculosis
when he was fourteen. One 7 his brothers, Town, succumbed 8  the same disease.

He was also a victim of TB.

Key

l.in 2.on 3.in 4.by 5.in 6.of 7.0of, 8.to

Assignment I
Read the following Passage and fill in with the prepositions.

Arobot is a machine that is designed 1 work like a human being. A restaurant owner
once boughtarobot___2  afactory.__ 3 itsfirsttrial the robot brokeaset 4 expensive
ups. 5 Thirty minutes it went out 6 control. It ran 7 the restaurant,
knocking 8  furniture and frightening the customers. This behaviour was repeated the next day
when it dropped a plate of hotfood __ 9 a owners lap. The customer took the robot __10 __court.
It was amusing 11 see a robot being questioned 12 a lawyer. He stood
quietly ___13 court wearing a blank hat and tie. The supplier said he had tested the robot

14 deliveringit___15  thebuyer. 16  alongagreement it was agreed to test the robot

awee again. 17 every body's surprise up was found that the battery was not fully charged.
Key
1. to 2. from 3. during 4.0f 5.often 6.0of, 7.around 8. over
9. into. 10. to I1.to 12.by 13. in 14.before 15.to 16. after 17. to.
Assignment 1

a Gaps fillings with prepositions.

Indiahas arichheritage __ 1 __traditional systems __2  medicines.such__ 3 Ayurveda

and Unani. They have gained popularity all 4 the world S their correct

approach 6 treating disease and ailments.
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Ayurveda provides an integrated approach to preventing and treating illness ___ 7 __ natural

therapies. Unani medicines is effective ___8 _the treatment of chronic diseases. Homeopathy
can be used 9 treat acute and chronic health problems. It provides remedies
prepared 10 natural substances that work stimulating the body's own healing power.

These systems provide safe, effective and low cost solutions___ 11 most health problems.

Key
1. of 2.0f 3.as 4. over 5. for 6. to
7. through 8. in,to 9. to 10. by 11. by 12. for
Assignment I
a. I(a)Fillin the blanks with suitable prepositions.

Key

1.

The family pandit, upon whose advice, mother had relied almost her childhood, was
called____ and consulted. "He knows more about religion and science, "mother said with
pride, "than any other pandit in our province". I was taken beforehimand __ along time
I'sat my mother's lap while he was lost thought. After a while, he took
my hand and examined the lines. Then he looked mother's and he studies her

forehead, mumbling steadily. He said he found himself inadequate, and more pandits would have

to be consulted his request, they were called and questioned as what
atonement could be made. They all agreed that by doing penance her sins, my mother
could improve my chance regaining sight.

form 2.in  3.for 4.in 5.in 6at 7at 8.to 9.for 10.of

Grammar : Assignment I

L

(a) Fill in the blanks with suitable prepositions

I'may never have become a cricketer and this book would certainly not have been written, if an
eagle - eyed relation, Mr. Narayan Masusekar, had not come my life the day I was

born. It seem, that Nan - kaka ( as I call him) who had come see me hospital

my first day this world, noticed a little hole near the top my
left ear to be. The next day he come again and picked the baby lying the

crib next my mother. To his utter horror, he discovered that the baby did not have the
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whole the left ear lobe. A frantic search of all the cribs in the hospital followed, and

I was eventually located sleeping blissfully a fisher woman, Totally oblivious of the

commotion I had caused. The mix - up, it appear, followed the babies had been given
their bath.

Key to prepositions.

a l.into 2.to 3.in 4.on 5.in 6.0f 7.up 8.on 9. to 10.on 11. beside
12. after
Assignment 1
a. Gap Filling with Prepositions :
When my mother learned my father decision sent me to the Dadas school,
she was appalled. She could not understand the reason sending me nine hundred miles
away form home attend school with orphans and children of the poorest classes.
Yet she placed her faith my father's judgement her quiet way, she agrees.
Key
I. of 2.to 3. for 4. to Sin 6.1in
Assignment 1
a Gap filling with prepositions / conjunctions
Dear Rama,
Hellow ! How are you ? It has been a long time 1 (for/since/from) I wrote to you.
How is your new college ? Do you like it?
I have joined a college 2 ( beside / besides) my aunt's house. It is convenient
3 (for /by) me. I 'm in college 4 (for/from/to)eightam__ 5 (by/for/
to) four p.m. 6 (on/ at/ during) the eight hours that we are 7 (in/on/
by) college , we try to complete all the work given ___ 8 (to/ at/by) us.
Key
1. Since 2. beside 3. for 4. from
5. to 6. during 7. in 8.to
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Grammar - Assignment I
B Error - correction by Tense Form?

When Sunil Garaskar was born, arelative (come) 1 to come see him in the hospital. His
name (was) __2  Mr. Narayan Mansusekar and he had sharp eyes. He (notice) ___ 3 that
the newborn baby (had) ___ 4 ahole on his ear. The next day when he (goes) 5 again

and picked up the baby, he (find) 6 that the hole was missing. Everyone
(start)__7  searching for the missing baby. At last Sunil was found sleeping beside a fisher
woman.
Key
1. came 2. was 3. noticed 4. had 5. went
6. found 7. started
Assignment I

B Error correction ( Tense)

Thetime ___ 1 _ forusto consider seriously the question of a Bharath brand of English. As
I(say)__2 inmy essay on 'EnglishinIndia', so far English (have) __3  acomparatively
confined existence in our country chiefly in the halls of learning, justice, or administration. Now
the time is ripe for it to come to the dusty street, market place, and under the banyan tree. English

must adopt the 'complexion of our life and assimilate 'its idiom. I(have) 4  not (suggest)

S here a mongrelization of the language. I (has) ___ 6 not (recommend) 7  that

we should go back to the days when we (bear) 8 particularly in the railways.

Key
1. has come 2.havesend 3.hashed 4.am
5. suggesting 6.am 7.recommending 8. bore
Assignment I

B Error correction (Tense)

For years | 1 (dream) of visiting Mumbai. AtlastI(get) 2  the chance in quite
an unexpected manner. I was (select), 3 for the National Tournament to be

(play) ___4 at Mumbai in summer. A day before the journey. I1(go)___ 5 out shopping

19



for certain things I (need) 6 As I (returned) 7 home, I (meet) 8 a
Schoolmate who (is) 9 __thrilled to know a bout my trip. I (cannot sleep) 10 the

whole night, filled with excitement.

Key
1. dreamt 2.got 3.selected 4. played 5. went 6. needed 7. returned
8. meet 9. was 10. would not sleep
Assignment 1
B. Error correction ( Tense)
1. Ithappened in the last week of May. Early that month, we (have decided) 1 to go to

Key :

Key :

Kerala for vacation. We were boarding the train at Secunderabad station when suddenly I realized

that. I (have forgotten) 2 the tickets at home.

1. had decided 2. had forgotten.
Jerry (is) 1 a unique manager because he (have) 2 several waiters who
(have) 3 followed him around from restaurant to restaurant. The reason the waiter

(follows) 4 Jerry was because of his attitude. He (is) 5 a natural motivator.
If an employee was having abad day. Jerry (is) ___ 6 there telling the employee how to look

on the positive side of the situation.

1. was 2. had 3. had 4. followed 5. was 6. was

Assignment 1

B

Error correction ( Tense)

I'have a special memory of Christmas. I was five years old then. My cousins, aunts and uncles
(are visiting) __1 us (am wearing). | 2 abeautiful pink gown. We (are sitting)
3 around the Christmas tree in our living room, and everyone (is opening) ___ 4
Christmas presents. I (an looking) S at one big package near the corner of the room.

It was the most beautiful present - a big doll house.
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Key

1. were visiting
2. was wearing
3. were sitting

4. was opening

5. was looking

Assignment I

B

Error correction ( Tense)

Ten years ago, Anjamma 1 (is) a street child. She 2 (goes) around begging
near traffic signals and temples. She ___ 3 (sleeps) on pavement In 2000,she ___ 4 (is
taken) to a home for destitute where such children are provided food and shelter. They are also
given education - particularly vocational education. Now she __ 5 (have) learnt to read and
write. She ___ 6 (have become) independent. She makes soft toys and earns food not only

for herself but also for two destitute children.

Key
1. was 2. went 3. slept 4. wastaken
5. has learnt 6. has become
Assignment I
B Errorcorrection -

One weekend, I (want) 1 to go Visakhapatnam, to (saw) 2 my parents. The
train to Vizag (is) 3 at 6.15 am. I did'nt think it would be very crowded. So I
(go) 4 to the station around 6 am. To my surprise, there (is) 5 along queue
at the booking counter. The train (is) ___6 already on the platform. I (stand) 7 at
the end of the queue. Even after ten minutes the queue did not move an inch. I
(realise) __8 thatthere were some people jumping the queue and I wouldn't be able to rearch
the counter even after one hour. I (come) 9  outof the queue and got a ticket through
the unauthourised agent paying double the cost of the ticket. Then I (rush) 10 tothe

platform only to see the train leave.
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Key

1. Wanted 2. see 3. was 4. went 5. was
6. was 7. stood 8.realized 9.came 10. rushed
Assignment 1
B Error correction

Key
1.
6.

10.

I 1 (have) just 2 (return) from Bangalore when my friend ___ 3 (call)
to inform me that I 4 (pass) my Intermediate examination. He 5 (know) that
I 6 (be) anxious to know if I 7 ('secure) a distinction. He 8 (tell)
methatthe BI.LE___ 9  (announce) only the gradesandthatl ____10 _ (get) an'A’ grade.
This news 11 (make) we very happy.

had 2. returned 3. called 4. had passed, 5.kenew
was 7. had 8. secured, 8. told 9. had announced

had got 11.made

Assignment 1

B

Key

Error correction

Jerry replied, 'Each morning I (wakes) 1 up and (says) 2 to myself. Jerry,
you (has) 3 two choices today. You can (chooses) 4 to be in a good mood
or you can choose to be in bad mood. I (chooses) 5 tobeina good mood. Each time
something bad (happen) 6, Icanchoose to be a victim or I can choose to learn from
it. I choose to learn from it. Everytime someone (comes) ___ 7 to me complaining. I Can

choose to accept their complaining. or I can point out the positive side of life. I choose the

positive side of life.
1. wake 2. say 3. have 4. choose 5. choose 6. happens
7. comes
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Assignment I

B

Key

Error corrections

Papa, once I (ask) 1 my grand father how she (get) 2 to be so wise. Do you
know what she (say) 3 ?By living and experiencing. And she (laugh) __ 4 asthough
I (ask) 5 something which (is) 6 so obvious. (Is) 7 we living Papa?
or (was) 8 life by passing us ? What I fear is that If I (am) 9 to meet Newton
face to face I (will) 10 fail to recognize him, so busy (are) 11 I'learning about
him! you know, just like that by, Vinu, in that award winning film, he prattles on. "The Hibiscus is
red' a hundred times, but in his book, the colours it yellow. (Is) ___ 12  we missing out on

the essence of life ?

1. asked 2. got 3. said 4.laughed 5. had asked
6. was 7. Are 8.1s 9. were 10. would
11.am 12. Are

Grammar - Assignment [ - Transformation - Passive - Active

(©)

The Passive voice is mainly expressed by using the 'be' form of the verb along with a 'Past

Participle of the main verb. The following table Provides Passive forms of the verb list.

Tense Active verb Passive verb (be + v-ed)
Present simple visit/ visits is/are visited
Present continuous is/are/ visiting is/ are being visited
Present perfect has /have visited has / have been visited
Past simple visited was / were visited
Past continuous was twere visiting was /were being visited
Past perfect had visited had been visited
Future simple will visit will be visited
+ Infinitive may visit can be visited

can visit could be visited
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1.

EXERCISE

Complete the sentences using one of these verbs in the correct form.

(1) cause (2) damage (3)hold (4)include (5) invite (6) make
(7) overtake (8) show (9) translate  (10) write

. Many accidents by dangerous driving.
Cheese............ from milk.

The roof of the building ...... in a storm a few days ago.
There's no mto need leave a tip, service...... in the bill.
You......... to the wedding, why didn't you go ?

A Cinemais a place where films.........

In the US, elections for President ............. every four years.

Originally the book ...... in Spanish and a few years agoiit............. into English

We were driving along quite fast but we ........ by lots of other cars.

are caused 2.is made 3. was damaged 4.1sincluded 5. were invited

are shown 7. are held 8. was written 8. was translated 9. were overtaken
EXERCISE

Write questions using the passive, some are present and some are past tense.

1. Ask about the telephone (when/ invent?) When ............ ?
2. Ask about glass (how/ made ?) How ................ ?

3. Ask about Australia ( when / discover ?7) When.......... ?
4. Ask about silver ( what / use for?) What ............ ?

5. Ask about Television ( when ? invent ?) When............ ?
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I. Put the verb into the correct form, Present simple, past simple, active or passive .

1. It's a big factory. Five hundred people........... (employ) there.

[\S)

. Water....... ( cover) most of the Earths surface.

. Most of the earths surface ......... (cover) by water.

. The parkgates.......... (lock) at 6.30 pm every evening.

. The letter ........ (post) aweek ago and it ....... (arrive) yesterday.

. The boat....... (sink) quickly but fortunately everybody......... (rescue).

~N N e B~ W

grandparents.
8. I'was bornin London butI....... ( grow) up with may grandparents
9. While I was on holiday, my camera ..... (disappear) from my hotel room.
10. Why ....... (Bill sack) from his job ? what wrong did he do ?
11. Why.....( Sue resign) from her job? Did'nt she enjoy it?
12. The company is not independent. It .....( own) by a much larger company.

13. I'saw an accident last night. Somebody ......... (call) an ambulance but nobody .....

the am bulance ........ (not /need)
Key
I. 1. When was the telephone invented ?
2. How is glass made ?
3. When was Australia discovered ?
4. What s silver used for ?
5. When was television invented ?
I. 1.areemployed
2.covers
3.is covered
4. are locked

5. was posted - arrived

25
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6. sank - was rescued
7. died - were brought
8. grew
9. disappeared
10. was bill sacked
11. did sue resign
12.1is owned
13. called....... was injured........ was n 't needed.
3. EXERCISE
I. Rewrite these sentences, instead of using 'somebody/ they / people’' etc. write a passive sentence.
1. Somebody cleans the room every day. The room.........
2. They Cancelled all flights because of fog. All.........
3. People don't use this road very often ..........
4. Somebody accused me of stealing money. I..........
5. How do people learn languages ? How .........
6. People advised us not to go out alone.............
II. Complete the following passive voice sentences in the tenses suggested.
1. This picture ( always admire) ............. (present)
2. His leg (hurt) in an accident ........ (past)
3. This exercise (do) very carefully ....... (present continues).
4. The box ( not open) for the last hundred year ....... (present perfect).
5. The Tower of London (formerly use) as a prison ....... (past)
6. Two of my dinner plates ( break) ..... (present perfect)
7. A big battle (fight) here 200 years ago..... (past)
8. 404 (invite) to lunch tomorrow ..... (present perfect).
9. The bridge (build) last year .......... (past)

10. This play (forget) in a few year's time...... (future).



Key
I. 1. Theroomis cleaned everyday

2. All the flights were cancelled because of fog.
3. This road isn't used very often.
4.1 was accused of stealing money.
5. How are languages learnt ?
6. We were advised not to go out alone.

II. 1.isalways admired
2. was hurt
3.1s being done very carefully.
4. has not been opened
5. was formerly used
6. have been broken
7. was fought
8. have been invited
9. was built

10. will be forgotten

4. EXERCISE

I Putthe following underlined sentences into passive voice with a personal subject.
1. They gave my little sister a ticket, too.
2. People will show the visitors the new buildings.
3. Someone has already paid the electrician for his work.
4. They promise us higher wages.

5. Somebody will tell you what time the train leaves.
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Key

6. Somebody ordered the prisoners to stand up.

7. Somebody recommended me to another doctor.

8. Someone taught him French and gave him a dictionary.
9. They will allow each boy a second plate of ice cream.

10. The authorities refused Cyril a passport.

1. My little sister was given a ticket, too by them.

2. The visitors will be shown the new buildings.

3. The electrician has already been paid for his work.

4. We are promised higher wages.

5. You will be told what time the train leaves.

6. The prisoners were ordered to standup.

7.1was recommended to another doctor.

8. He was taught French and was given a dictionary

9. Each boy will be allowed a second plate of ice cream.

10. Cyril was refused a passport.

EXERCISE

Complete these sentences with one of the following verbs ( in the correct form)
carry / cause/ do / make / repair / send / spend / wakeup

Sometimes you need - have / might have / could have etc.

1. The situation is serious. Something must ....... before is too late.

2.Thaven't received the letter. It might......... to the wrong address.

3. Adecision will not....... until the next morning

4.1told the hotel receptionist that I wanted to ........ at 6.30 the next morning
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5. Do you think that less money should .......... on ornaments ?

6. This road is in very bad condition. It should .......... a long time ago.

7. The injured man couldn't walk and had to ...........

8. It's not certain how the fire started but it mght .... by an electrical fault.

. Rewrite these sentences, Instead of using 'somebody’

or 'they', write a passive sentence.

1. Somebody has cleaned the room.........

2. They have postponed the concert .................

3. Somebody is using the computer at the moment. The computer .................

4.1 didn't realise that somebody was recording our conversation. I didn't realise that........

5. When we got to the stadium we found that they had cancelled the game, when we got to the

Key

IL

stadium, we found that ..........
6. They are building a new ring road round the city...........

7. They have built a new hospital near the airport.

1. be done

2. have been sent

3. be made

4. be woken up

5. be spent

6. have been repaired

7. be carried

8. have been caused

1. The room has been cleaned

2. The concert has been postponed
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Key

3. The computer is being used at the moment.

4.1didn't realise that our conversation was being recorded.
5. ....we found that the game had been cancelled.

6. Anew ring road is being built round the city.

7. Anew hospital has been built near the airport.

EXERCISE

Make sentences from the words in brackets. Sometimes the verb is active, sometimes passive.
1. There's somebody behind us. ( I think / we/ follow)

2. This room looks different. ( you /paint ?) .........

3. My car has disappeared ( It/ steal !) If .............

4. My umbrella has disappeared. ( somebody /flake) Somebody

5. Tom gets a higher salary now. ( he / promote)

6. Ann can't use her office at the moment. ( It/ redecorate )

7. The photocopier broke down yesterday, but now its ok. ( It/ work / again , it/ repair).......
8. The police have found the people they were looking for. ( Two people / arest / last night).....
9. A tree was lying across the road. (It/ blowdown / in the storm).............

10. The man next door disappeared six month ago ( nobody /see / since then)

11.Iwas mugged on my way home a few nights ago. ( you/ever/mug ?)

1. I think we are being followed.

2. Have you painted it ?

3. Ithas been stolen.

4. Somebody has taken it or my umbrella

5. He has been promoted / He was promoted.

6. Itis being redecorated.
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7. Itis working again / It has been repaired.
8. Two people were arrested last night.

9. Ithad been blown down in the storm.

10. Nobody has seen him since then.

11. Have you ever been mugged?

7. EXERCISE

I. Convert the following passive sentences into active sentences.
Simple Present (1) The classes are inspected by the school Inspector.
Simple past (2) The classes were inspected by the school Inspector.
Simple future  (3) The classes will be inspected by the school Inspector.
Present continues (4) The classes are being inspected by the school Inspector.
Pastcontinues  (5) The classes were being inspected by the school Inspector.
Present perfect  (6) The classes have been inspected by the school Inspector.
Past perfect (7) The classes had been inspected by the school Inspector.

future perfect  (8) The classes will have been Inspected by the school Inspector.

Key

I. 1. The school inspector inspects the classes.
2. The school inspector inspected the classes.
3. The school inspector will inspect the classes.
4. The school inspector is inspecting the classes.
5. The school inspector was inspecting the classes.
6. The school inspector has inspected the classes.
7. The school inspector had inspected the classes.

8. The school inspector will have inspected the classes.
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Assignment 1

C

Key :

Transformation - active , passive rewrite the following text in active voice.

Four men circulating counter fiet currency notes have been arrested by the Crime branch of the
Delhi police. Over Rs. 10 Lakh in fake notes smuggled in through the Indo - Bangladesh border

were purpotedly seized from them.

Delhi crime branch police have arrested four men circulating counterfeit currently notes. They

per portedly seized over Rs. 10 Lakh in Fake notes suggested through the Indo - Bangladesh

border.
C. Transformation (active - passive rewrite the following text into in to passive voice
The UP STF has (arrested) ___ 1 five security personal for supplying arms to anti - social
groups. The security personal __ 2 (were supplying) the naxals stolen arms and ammunition.
The police (seized ) 3 5,000 live catridges from them. The police (launched) 4
the operation to bust the racket ofter the April 6 naxal ambush in Dantewada.
Key

Five security personal had been arrested by the UP STF for supplying arms to anti - social
groups. The naxals were being supplied stolen arms and ammunition by the security personal
5,000 live catridges were seized by the police from them. The operation was launched by the
police to bust the racket after the April 6, naxal ambush in Dantewada.

Assignment 1

C  Transformation Active - Passive

A. How butter is made

Cream__ 1  (churn)andmilkfat___ 2  (collect) . The remaining liquid is called butter
milk. Themilkfat___3  (whip) and the waterinit,ifany __4  (throw)away. A pinch
of salt 5 (add) to the ball of whipped fat and 6 (keep) in a butter dish.
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(b) How an electric iron is repaired.

To replace the heating element of an iron, the handle along with the topcover___ 1 (remove).
In modern automatic irons, these are aften removable in one piece, but in other designs two nuts
secure the handle and when these 2 (remove), the handle can be removed. Then the
cover 3 (withdraw) and the iron weight 4 (disclose), which can be raised to
find the heating elements. The heatingelement___ 5 (contain) between two layers of a mina

sheet.
Key

A. lischurned
2is collected
3 is whipped
4. is thrown
5. is added
6. is kept

B. 1. isremoved
2. are removed
3. is withdrawn
4. is disclosed

5. is contained
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Note Making

Assignment - I

Q-1

Read the passage given below and do the activity that follows.

Do you ever worry about your memory ? Perhaps you go into a room and forget what you came
for, go blank on names, mislay things Or there may be something on the tip of your tongue, but you
can't get it off. Don't worry. You are perfectly normal. It is the nature of the mind to forget - and the

nature of man to worry about forget fulness.

Human beings have a prodigious memory. In a few cubic centimeters the brain stores more
information than can be stored in a large computer. Today neurologists, psychologists, and biologists
are studying the different aspects of memory. There are two types of memory. Short term memory last

only seconds. Long term memory is stored probably for life.

Three sets of points A, B and C are given for the passage above. Tick the most suitable set of

points.
The author suggests that.................
A 1. There are two types of memory
2. When you forget. Don't worry. It is perfectly abnormal.
3. Human beings have a good memory and so they are not forgetful.
B 1. There are two types of memory.
2. Human beings have a good memory, yet they are forgetful.
3. When you forget. Don't worry. It is perfectly normal.
C 1. When you forget. Don't worry. It is perfectly abnormal
2. Human beings have poor memory and so they are forgetful
3. There are two types of memory

Answer 'B'
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Read the Passage given below and do the activity that follows.

Noise can cause widespread damage to the human body. Environmental noise affects the nervous
system in a number of ways. Temporary deafness can be caused by brief exposure to intense
noise. Excessive noise exposure can result in headaches, fatigue, dizziness, high blood pressure

and tense muscles.

Congenital defects can be caused in an unborn child by intense and sustained noise as experienced

by female construction worker.

Noise is measured in decibels (DB) and psychological research has proved that 90 DB can

cause deafness and 140 DB madness.

II

3 Sets of points are A, B and C given below. Tick the set which gives the most suitable points for

the paragraph

1. Noise can cause widespread damage to nervous system.

2. Intense and brief noise harms unborn child.

3. Psychological research has proved that 90 DB can cause madness and 140 deafness
1. Moderate noise levels cause no harm

2. Children of construction workers are born deaf.

3. Noise causes deafness and madness

1. Noise can cause widespread damage to human body.

2. Intense and sustained noise harms urborn child.

3. Psychological research has proved that 90 DB can cause deafness and 140 DB madness.
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11

Read the Passage given below and do the activity that follows :

Obesity - linked diabetes is for first time being reported in children and adolescents in the U.K.
and many other countries. A 1986 landmark study of obesity and television viewing found a clear
association between the number of hours of television a child watched and the risk of that child becoming

obese or overweight.

The more television the children watch, the more they eat. Television viewing prompts children to
consume food while they consume less energy, an ideal recipe for obesity. Marketing soft, sweet and

salty foods on television is a good business, and children are the most vulnerable targets.

Three sets of points A, B and C are given for the passage above. Tick the most suitable set of

points.

A. 1.Recently even children are becoming diabetic due to obesity.
2. The more a child watches television, the higher the risk of that child becoming obese.
3. Anideal recipe for obesity is to consume more food and consume less energy.

B. 1.Thereis aclear association between obesity and television viewing.
2. Obesity linked diabetes among children is common since long.
3. Ads are making the children vulnerable.

C. 1. Marketing soft, sweet and salty foods on television is a good business.
2. Only the children and adolescents of U.K are reported to have obesity - linked diabetes.
3. Children have been developing irregular eating habits

Answer'A’

IV

Read the passage given below and do the activity that follows.

Plants can prevent pollution of the atmosphere in many ways. The major components of atmosphere
are nitrogen ( 78.08%) and oxygen ( 20.95%). Minor components are argon and carbon dioxide
(0.0314%).
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The ratio of these components is changing very fast due to increased human activities like fossils
burning afforestation and changes in land use. They result in the liberation of tons of carbon

dioxide, carbon monoxide, methane and aerosols into the atmosphere.

Trees help to reduce pollution in more than one way. First, they act as a sink for carbon dioxide.
Through photosynthesis they synthesize carbohydrate using carbon dioxide, water and sunlight.
By the same process tree release oxygen which is needed by other living organisms. They also
help in cooling the atmosphere by transpiration. In addition, aerosols and dust particles settle on

the dense foliage of trees. Thus trees reduce aerosol and dust pollution by acting as barriers.
Three sets of points A, B and C are given for the passage above.
Tick the most suitable set of points.

A. 1. Nitrogen and oxygen are the major components of atmosphere

2. The liberation of carbon dioxide, methane and aerosols into the atmosphere makes the

atmosphere clean
3. Through photosynthesis trees sink in carbon dioxide.
B 1. Plants can prevent pollution of atmosphere

2. Pollution is due to change in the ratio of components of the atmosphere
3. Trees act as barriers of dust Pollution

C. 1.Trees help in cooling the atmosphere
2. Fossil fuel burning, afforestation and changes in land use are the reasons for pollution.
3. In the process of photosynthesis plants take in oxygen and release carbon dioxide.

Answer C
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Q-2

Read the passage given below and do the activity that follows

I'may never have become a cricketer and this book would certainly not have been written, if an
eagle - eyed relation. Mr. Narayan Masurekar, had not come into my life the day I was born. It seems
that Nan - Kaka (as I call him), who had come to see me in the hospital on my first day in this world,
noticed a little hole near the top of my left ear lobe. The next day he came again and picked up the baby
lying on the crib next to my mother. To his utter horror, he discovered that the baby did not have the
hole on the left ear lobe. A frantic search of all the cribs in the hospital followed, and I was eventually
located sleeping blissfully beside a fisherwomen. The mix up it appears followed after the babies had

been given their bath.

I'have often wondered what would have happened if nature had not 'marked' me out, and given
me my 'guard’ by giving me that small hole on my left ear lobe, and if Nan kaka had not noticed this
abnormality. Perhaps, I would have grown up to be an obscure fisherman. And, what about the boy
who, for a spell, took my place? I do not know if he is interested in cricket, or whether he will ever read

this book.
Rearrange the jumbled sentences :
1. The mix up followed after the babies had been given their bath.
2. Iwould have grown up to be an obscure fisherman.
3. Afrantic search followed.
4. The nextday Nan Kaka discovered that the baby did not have the hole on the left ear lobe.
5. Twaslocated sleeping beside a fisher woman.

6. This book would not have been written if Nan Kaka had not come into my life and noticed a hole

near the left ear lobe.
7. What would have happened if Nan Kaka had not noticed this abnormality.

Answer Key :6,4,3,5,1,7,2
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II

Read the passage given below and do the activity that follows.

In observing Mars, astronomers have noticed certain things that indicated a form of life may be
possible there. First of all Mars has seasons like the earth. In fact, as the seasons change in Mars, there
seems to be changes on its surface. The dark areas get stronger in the spring and summer, and the

colour changes from bluish green to yellow. Could this be vegetation ?

Astronomers also believe that there is atleast a small amount of water vapour in the atmosphere
of Mars, and this would be helpful in supporting life. Then, too, in 1887, an Italian astronomer, Giovanni

reported seeing markings on the surface of Mars that resembled canals.

In 1976, two American Viking probes landed on the surface of Mars. The instruments in the
space probes searched the surrounding soil for signs of life and radioed their results back to earth, these
results showed that either there are germs in the soil or that the soil is very unusual and not like that on

earth. It life does exist on Mars, it would be a very simple form of life.
Rearrange the jumbled sentences :
1. In 1976, two American Viking space probes landed on the surface of Mars.
2. They also believed that there is a small amount of water vapour in the atmosphere of Mars.

3. Astronomers have noticed certain things that indicated a form of life may be possible on the

planet Mars.
4. An Italian astronomer reported seeing markings on the surface of Mars that resembled canals.
5. The results of Viking probe showed that the soil is very unusual and not like that on earth.
6. InMars as seasons change there are changes on its surface.
7. First of all, Mars has seasons like the earth.

Answer Key:3,7,6,2,4,1,5
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Read the passage given below and do the activity that follows :

Indian President Pratibha Patil has flown in a fighter jet becoming the country's first woman to

fly in a combat plane.

Mrs. Patil, 74, described her 30 - minute flight in a two - seater Sukhoi jet as "a wonderful and

unique experience".

The President was a co-passenger in the jet that flew above an air force base near the city of

Pune in western India.

She also set a world record by becoming the oldest woman to be airborne in a combat jet,

Indian officials claim.

"I was familiarised with the manoeuvreing of the air craft which has a very sophisticated way of
handling it.  had the opportunity to fly in the most technically advanced air craft", Mrs. Patil told a press
conference in Pune city after her flight.

Rearrange the jumbled sentences :
1. A world record was set by becoming the oldest woman to fly in a combat jet.
2. She was a co - passenger in the jet.
3. Pratibha Patil, the India President was the country's first woman to fly in a combat flight.
4. She was made familiar with the manoeuvering of Sukhoi jet.
5. She remembers her flight as an exciting experience.

Answer Key :3,5,2,1,4.

IV

Read the passage given below and do the activity that follows :

Of all the trees of South Asia, the banyan is unique, not only for the manner of its growth, but
for the area of shade it provides from the burning sun. Its close relationship with man has evolved over
the years to make the banyan a popular meeting place, a focal point of worship and a source of

practical materials for commerce.
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As the banyan grows, it sends aerial roots down the trunk of the supporting tree. In time, the

roots that reach the ground choke the host tree by preventing its trunk from enlarging.

The two best known species of banyan tree : the Indian, one of the world's largest tropical
trees, the best example is the banyan tree, Thimmamma Marrimanu, near Kadiri in Anantapur district of
Andhra Pradesh, which has entered the world record as the biggest tree, and the Chinese, a smaller

species with fewer aerial roots.
Rearrange the jumbled sentences :
1. Asitgrows, it sends aerial roots down the trunk.
2. Thimmamma Marrimanu has entered the world record as the biggest banyan tree.
3. The banyan tree is unique for its manner of growth and area of shade it provides.
4. Tthas a close relationship with man as a meeting place, place of worship and for commerce.
5. The two best known species of banyan are
1. The Indian and
2. The Chinese.

Answer Key : 3,4, 1, 5, 2.

\Y%

Read the passage given below and do the activity that follows :

The advantages of rapid means of transport and communication are numerous. Businessmen
travelling, say from Europe to America or to the Far East, can save much time for a journey that would
once have taken weeks, takes now, by air, less than 12 hours. Fruits, vegetables and other good, that
would decay on a long, slow journey can now be safely sent to far distant places. Members of one

family separated from each other by vast distances can have conversation with each other by telephone.

Not all the effects of speed are beneficial. People who are in the habit of using a motor car
whenever then want to move half a mile become physically lazy and lose the power of enjoying a
vigorous walk. Those who travel through a country at the speed light do not see much of the life of that
country, of its people and animals and plants as they flash past. They become so anxious about moving
quickly from one place to another that they are no longer able to relax and enjoy a leisurely journey.

Men are made restless by speedy travel, the pace of their whole way of living is increased.
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Three sets of points A, B and C are given for the passage above.
Tick the most suitable set of points.
A. 1.Businessmen travelling long distances save much time for a journey.
2. People lost the habit of enjoying country side sight seeing.
3. People no longer relax and enjoy a leisurely journey.
B. 1. Perishable goods can be safely sent to distant places.
2. People lost the power of enjoying a vigorous walk.
3. Men are made restless by speedy travel.

C. 1.Theadvantages of fast transport and communication are it saves time, transports perishable

goods safely and enjures easy communication
2. Fast transport makes people lazy and prevents, them from enjoying country side.
3. Fast travel makes them restless and increases pace of living.

Answer - 'C'

VI

Read the passage given below and do the activity that follows :

Very few persons have the misfortune of reading their own obituary in a newspaper. It happened
with Alfred Nobel the inventor of dynamite. In 1888, when Alfred's brother died, a French newspaper,
under the mistaken belief that Alfred had died, published an obituary. In the obituary, the newspaper
described him as a man who had made it possible to kill more people more quickly than anyone else

who had ever lived. Alfred Nobel was horrified by what he read.

It was not entirely correct that the invention of dynamite had brought only death and destruction.

In fact it had served humanity in a far large way by its use in the construction industry.

Alfred Nobel realized, at that moment, that this was not how he wanted to be remembered.

Soon after, he established the Nobel Trust with an endowment of nine million dollars. He declared that
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five prizes would be awarded annually to those who had done outstanding work in Physics, Chemistry,

Medicine, Literature and in espousing peace.
Rearrange the jumbled sentences :
1. Theinvention of dynamite had not only brought about death and destruction but it served humanity.
2. Heestablished the Nobel Trust with an endowment of nine million dollars.
3. Alfred Nobel had the misfortune of reading his own obituary in a newspaper
4. He does not want to be remembered by the people as an inventor of destruction.

5. Newspaper described him as a man who had made it possible to kill more people more quickly

than anyone else.

Answer Key : 3,5, 1,4, 2.
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